Lecture 17
Thursday, October 21,2021 2:03 PM

YY\HQ\K\CS CI\OC( R
) ——— — =
& H & c ° e
V\(f"—\ > O M N a
® P
c ,;( /f;i( o *
s
P
-

CCM \ \O‘QG\< jﬂ\ms S&‘f\ﬂ \v\Lo \%\eces So “«c\\'

eGch f\)\ece, wizk dnes CG\AT“CA\) 7.

o b c| d (0N &Oj

w A

G\\o-\-c& C\\o(CA
— } ———
a b C d o b

v Kooy
thecd dbred  avecd




0 " ¢

|
Qo+ e ohcd

Tlern = hgooa\e“ . ( o 4 -eAJ)

30 Og\et' comM

Yc“e‘f\ - Cgoogle“ " @W\Q“ > . C\'um\' THN io“)
e ge e

6003\& ‘ - (D

. SHW:S - 0\0 CC}\ abu tac\es (O\\o A CJ)V‘
0 [ “bd -

N
N L el
e <




1 .
\(\\Q L\)O\“S‘ xo Scj ‘ (*é’“ — (\ . ‘(%
?&r& [ mad C\f\es " <G\D*CA>¥
Vocusus  dawm (6b- “D
| !
%}7:“ Queslvm . (D'DQS v mo;\c\'\ (-(x?

L C - (*
@9 \'CA)Q LQ\QJ( CA)Aé

.

-~ Q \\
—1
O\\O X Cé\ @&d )’\&

L\\Q_\,QCJ(\&\'QSG’J;(

Y v can b“\ﬂ c =T e

et ll

Concat Q do , Unon(" e~ %>>
—



Y o
3 ,,
HQ‘/\/?:’)

fo(5)= fo(w)~ L (2)
= Hh ) o) < £ (. 11
= Do) <)« £50) b (o)
- Fb () + fo ()
= kb b ) + £ L0+ by« fibi)
AR T

% %\0(“/0 ﬂcx\o G\—Z) 1(\> )

fm\g

o («0 O (ceh)

W= cd ab wdda (cb+ cd)pﬂ K
V2 2 4 96

3 w5 4 (O\\of QA>+
\ Gbﬂ?:ga)
: N Qo « d

cd N\




o maddh 7
2 g -

OLw ) = 0 \(D L

clg v~
e

‘\'Q\O e be {-M

ec\c,\'\ (_Q\\

-_
b lo) = g\o (“") < {1\9(@)

, 0 z - A\
I T
Ly UQ = fblan) « («bm—z> Un\ass Jole
a\ru&% Al

(/\\\/U\ N r\eﬁu\ar Lpressiin .

Losheg L (4 longh @)
30\/\ Can &QJ&&QIM\M l,o\'\e:\’f,\g,(‘

(W \IY\O\ArC\Ae_S C 1\



One \4& o uau Pc\ss bver *)LL s%v‘\g)
eac\A L\A&/ac\ej (\)(ocesx;& \n\

@(\v\2> e
& o i Dﬂ\j O(\r\> MeMory

bE () e e die fule

C@wsﬁvv\ LD q\@o(\x\“mﬁ




oA

Moo o MOA cjf\ Constant o(/\o\oe,rv

—0-L S0 0% ok e g
8 _° o < _ t \

/—\Q
N
[

(pr\c,o?\’ <(“O“S4 2 o ¥\ obe” ; Cox\slrc«\* ) «Yes\">

— 0—q & o © >0 2 >o\iao%oi~@0

7

Ot O

D= O O®










